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#include<stdio.h>
int fib(int n);
int f£[45];
main () {
int n;
f[0]=£f[1]=1;
for (n=2; n<45; n++) f£[n]=0;

for (n=0; n<45; n++)
printf (" £(%2d)=%10d \n",n, fib(n));
}

int fib(int n) {
1f (f£f[n] == 0)
fn]l=fib(n-1)+fib(n-2);

return fn];

}
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#include<stdio.h>

vold func () ; o
int x=0; /* KRBEH «/

main () {
int 1;
for (1=0; i<5; i++) {
X++;
func () ;
}
}
vold func () {

int az0; /x  EBEW </
static int b=0; /» HHNEE «/

at++;

b++;

printf (" a = %d b = %d x= %d\n",a, b, x);
}
FA T

a=1Db=1x=1

a=1Db =2 x= 2

a =1Db =3 x=3

a =1Db =4 x= /4

a=1Db =5 x=5
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/* extern.c */ B
int a=100; /x A%
int b=200; /+ 4t

/* main.c %/
#include<stdio.h>
void func () ;
main () {
extern int a, b;
printf ("a+tb = %d \n", a+tb);
func () ;
}
volid func () |
extern int a, b;
printf ("axb = %$d \n", ax*b);
}

F17H

gcc extern.c main.c
./a.out

a+b 300

axb 20000
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#include <stdio.h>
main () {
reglister int 1i;
int J=4;
for (1=0; 1<10; 1++) J=2x7+1;
printf (" 3 = %d \n", j);
}

eyl
j = 5109
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1.& :a & b CZ% a, b D bit#HD and % HHET 3,
2.1 :a | b TZ¥ a, b D bitEHED or 2 {HHTD,
8. 7 : "a TZEH a D% bit # XEzI E5 (not),

4. ~ : a ~ b TZ¥ a, b D bit HD xor % FHHET 3,

5. >>: a > n CZ¥ a% nbitBifiG> 7K 95,

B. <<: a << n CZH a % nbit BiiE> 7N 95,
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vold Disp_b(int x)
int 1i,bit[32];
unsigned 1nt w;

W=X;

for (1=0; 1<=31;
bit[i]=w & 1;
w>>=1;

}

for (1=31; 1>=0;

i++)
/ *

i--)

printf ("$d",bit[1])
) printf (" ");

1f ((1 % 4) ==

}
}
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vold Disp_h(int x) {

int 1, Hex[8];

unsigned 1nt w;

char h[16]:{’0’,’1’,’2’,’3’,’4’,’5’,’6’,’7’,’8’,

I9/’IAI’IBI’ICI’IDI’IEI’IFI};

W=X;

for (1=0; 1i<=7; 1i++) {
Hex[i]l=w & 15; /x & MU®D 4bit ZHY T3 «/
w>>=4; /x w % 4bit GV T7 N TD  x/

}

for (i=7; i>=0; i--)
printf ("sc",h[Hex[1]]);
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main () {
int 1;
scanf ("%sd", &1) ;
printf (" sd = ",1);
Disp_b(i); printf("\n");
}

LT
1349871 = 0000 0000 0001 0100 1001 1000 1110 1111

main () {
int 1;
scanf ("%sd", &1) ;
printf (" sd = ",1);
Disp_h(i); printf("\n");
}

K71
-482522 = FFF8A326
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main () {
int a=0xfedcba%98, b=0x1234abcd, x,y,z,u,vVv;

printf (" a= %x, b=%x \n",a,b);
printf ( a = "); Disp_Db(a); printf("\n");
printf (" b = "); Disp_b(b); printf("\n");
printf ("\n");
x=a & b; printf(" a & b = "); Disp_b(x); printf ("\n");
v=a | b; printf(" a | b = "); Disp_b(y); printf ("\n");
z="a; printf (" Ta = "); Disp_b(z); printf("\n");
u="b; printf (" b = "); Disp_b(u); printf("\n");
v=a"b; printf(" a ~ b = "); Disp_b(v); printf("\n");

}

FITHER

a= fedcba9s, b=1234abcd
1111 1110 1101 1100 1011 1010 1001 1000
0001 0010 0011 0100 1010 1011 1100 1101

O W
Il

0001 0010 0001 0100 1010 1010 1000 1000
1111 1110 1111 1100 1011 1011 1101 1101
0000 0001 0010 0011 0100 0101 0110 0111
1110 1101 1100 1011 0101 0100 0011 0O10
1110 1100 1110 1000 0001 0001 0101 0101

L
O U — &
OO

a b
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1. 2 DOBPAILHZ bit WIZHEL, R2L5HMODOEHE BT 0T T A
% %“)’o

2. BB 1 127141 WO HRBEZ g & M RIFE DL D IZBR D, T/
TO B HHE ZREL,

3. bit AEDATRD & S B k% i< 717 7 L% fEh,

1111 0000 1111 0000 1111 0000 1111 0O0OO
0000 1111 0000 1111 0000 1111 0000 1111
1111 0000 1111 0000 1111 0000 1111 0O0O0O
0000 1111 0000 1111 0000 1111 0000 1111
1111 0000 1111 0000 1111 0000 1111 0Q0O0O
0000 1111 0000 1111 0000 1111 0000 1111
1111 0000 1111 0000 1111 0000 1111 0O0OO
0000 1111 0000 1111 0000 1111 0000 1111
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